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2f6%8H | A
;1) X % # F K A ! % %

B 7 & o X 6,936 13,339 6,994 6,345
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#H X3 6,936 13,339 6,994 6,345

R E 1 K £ B H 89 204 101 103
K & H 822 1,924 937 987

= K 145 337 169 168
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#H K3 1,203 2,805 1,378 1,427
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& & H q7 215 100 115
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BEAD GEXEF - BTTH5)

2f6%8H | A
X £ B T 4 it FEH A = L 8
Bl % 2 X Bl K H 649 1,506 737 769
P9 & %7 @ BT | 2 2 0
A 1 HT 169 410 199 211
B R B 741 1,616 790 826
& & q87 2,170 1,009 1,161
Bl &£ 101 396 156 240
= & 1,979 3,944 1,954 1,990
B | TH 235 416 212 204
8 2 TEH 458 885 446 439
8 3 TH 504 809 416 393
8 4 TBH 762 1,384 698 686
Mt W 25 | 4 I
NGB OFE A HT 436 923 459 464
JE £ 787 %7 @ T 16 36 15 21
LT 1 148 357 168 | 89
#H X 7,197 14,879 7,275 7,604
N R Kt R R AR E 1,314 3,073 1,499 1,574
#H X3 1,314 3,073 1,499 1,574
b X R X & ¢ H 72 220 115 105
& 5% %7 @B 6T 63 | 54 77 77
‘A BE YR E] 106 245 118 127
g @\ 60 142 74 68
it /H  H 74 19 93 98
N OB 31 82 43 39
& A 69 176 88 88
X B 6 16 7 q
BAaa | TH q4 194 105 89
BAaE2TH ql 200 q4 106
mHoE3TH 100 200 q9 101
mHoE4TH 136 302 145 157
Mo ES5TH 54 118 57 6|
B E 6 T8 83 172 86 86
#H X 1,039 2,412 1,201 1,21
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Lf6F8A 1 B
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH | 84 40 | 195 206
EWL2TEH 200 459 216 243
EWw 3 TEH |74 394 208 186
Bl 4 TEH 334 831 361 470
EWL5TEH 276 609 282 327
EWL 6 TEH 287 670 336 334
EWL7TEH 236 576 280 296
EWL 8 TEH 272 604 301 303
WwWE I TEH 447 q27 432 495
WwWE2TEH | 29 325 |59 166
¥ 3ITBAE 231 514 266 248
WwWE4TEH 158 360 168 192
WwW¥ES5TBH 246 553 264 289
WwW¥E 6 TBH 271 611 282 329
NI T B 28 62 30 32
N2 T H 353 898 446 452
N3 TEH 182 402 208 194
NS 4 T B 660 1,253 520 733
T& 1 TH 201 468 224 244
& 2T7TEH 234 569 268 301
& 3TEH 1 40 315 163 152
T & 4T7TEH 272 674 327 347
T &5TEH 192 436 1 89 247
BRE I TH 193 485 236 249
BHRE2TH 211 573 2717 296
BHRE3TE 72 193 q2 101
wHRE4TH 211 457 213 244
BHRES5TE 285 740 346 394
Afx& | TH 160 409 203 206
A& 2TH 172 405 201 204
A& 3TH 363 809 392 417
Afr& 4 TH 673 |,445 672 773
o X E 8,047 18,427 8,757 9,670
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Lf6F8A 1 B
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 171 804 552 252
Bk BE2TH |69 420 214 206
By A3 TH 205 466 239 2217
o R4 TH 288 757 357 400
o ES5TH 346 818 380 438
By 6TH 329 937 468 469
o BET7TH 433 1,118 575 543
W/ AW TH 293 714 331 383
W/ W2TH 239 578 282 296
W/ N3TEHE 383 987 472 515
W/ W4TH 306 776 372 404
W/ W5TH 28| 729 362 367
wr e TH 546 l,143 566 577
WworBE2TH 466 996 48| 515
WwWor B3 T8 363 1,017 508 509
Wwor B 4TE 342 584 290 294
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B¥27TEH 447 1,028 520 508
B3R 3TA8 311 748 381 367
B¥ 4 TEH 339 62| 294 327
B | TH | 135 38 q7
v B 3 T8 16 41 18 23
# K F 6,557 16,152 8,071 8,081
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